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however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
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Note :

POLITICAL SCIENCE
PAPER - III

questions are compulsory.

Who among the following referred to the “decline” of political theory ?

This paper contains seventy five (75) objective type questions of two (2) marks each. All

(a) David Easton and Alfred Cobbon (b) Lasslett and Robert Dahl
()  Will Durant (d) Nathenial Hawthorn
1) (Gand@© @) ©@and(@d () @and(© (4 (a)and (b)

2. Which of the following statements are true regarding Political theory ?
(a) It accepts scientism and repudiates the normativism.
(b) It synthesises political philosophy and scientific enquiry of political phenomenon.
(c) Itis structural and institutional and examines the logic and basis of political institutions
and organizations.
(d) DPolitical theory is philosophical as well as scientific, normative as well as empirical
evaluative as well as explanatory; historical as well as analytical.
Choose the correct answers from the below :
1) @and(d () (Mand©  (3) (d)only (4) (0 and (d)
3. Which of the following is true of modern liberalism ?
(a) Freedom of the individual as against the authority of the state.
(b) Recognise the importance of ‘group’.
(c) Supports the limited role of the state.
(d) Supports the state regulation to safeguard the weak.
Choose the correct answer.
(1) (a) and (c) (2) (b) and (d) (3) (a) and (d) (4) () and (d)
ooz | NRCANAN z Faper
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fder: =@ yvA-ww ® ueEeR (75) - fasheuta UeH € | T% U9 F 9 (2) o € | |t gee sifard ¥

1. ffafes # @ w9 Torifas fagia & ‘ga7’ #1 fafiés w=ar 82
(a) <foe TRMA 3R sEhe Hed (b) TEER SR e T«
(c) foar gue (d) A3 e=eH
(1) (b) 3 () (2) (o) FR() (3) (a) ¥ () (4) (a) 3R (b)

2. UoHIfae fagid & aR § frefafad # 9@ 9 91 %99 98 2 ?

(a) T AFTHRATE I TWHHR FIAT § 3R AFHATE FT WIS HIT ¢ |

(b) T TSI T AR TSHITqeh qRESAT ST oIk Siie ] HATRSd il ¢ |
() I HITATHS SR HeTeHsh Bl ¢ AR Toiifaes Feemi 3R €1l o ek IR TR 1 wliem

FE R

(d) Usrifae fagia SRifTe qun Sefe, fame e sTgyfaqas, i qul HATEAH,
Ufaeifaes e fageivomers 2 |

9 feu U S 9 WE ST HT TIT HL |

1) (a) AR (d) (2) (b) &R (o) (3) e (d) (4)  (c) ¥R (d)

3. oMYfieh SeRae & IR § fefafed # & o @& 22

(a) T o NIYSR & faeg Af® & @l

(b) T % Hed I A YSH FHIdl ¢ |
(c) TF i Wifd ffrsht &1 THAT HT T |
(d) FHSR T &N % fore T fafaam =1 gmeda & 21

el S HT =TT FL |

) (@) 3 (o) @
o-azss | AU

b) 37 (d) 3) (a) 3R (d) (4)  (c) ¥R (d)
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4.  Which of the following statements relating to Mao’s theory of contradictions are true ?
(a) Contradictions are universal in all times and in all societies.

(b) Antagonistic contradictions exist among the hostile classes in terms of ownership of
productive forces.

(c) Non-antagonistic contradictions could exist among people which could be resolved
without resorting to violence.

(d) Contradictions have no place in a socialist system.
Choose the correct answer from the below :

1) @and@ @ Gad@d  (G) (@), GandE @ (@) b)) and(d)

5. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : For John Locke, Natural Rights are a product of nature.
Reason (R) : State has to protect and safeguard these rights.

(1) Both (A) and (R) are true and (R) is the right explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the right explanation of (A).
(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

6.  Which of the following is not true of Aristotle’s theory of state ?
(a) Organic conception of State.
(b) State as a magnified individual.
(c) Rights of the individual can exist only as a member of the state.
(d) There is no conflict between the end of the individual and end of the state.
Choose the correct answer :

(1) (a) and (b) (2)  (d)and () (3) (o) only (4)  (d) only

7.  Machiavelli is regarded as the first modern political thinker because of :
(1) Separation of ethics and religion from politics.
(2) Forerunner of nation state.
(3) Represented the spirit of renaissance.
(4)

Subordination of Church to state.

o-azs [ I
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4. e & fagnia fagia & Sy § frefafad § 9 &1 9 %29 9@ 72
(a) @ w1 TR TS A fagfaa i g §
(b) fcRiETeTe fagfaat fagst avf o = Icaee Afedl & @i o €9 H H5E gl & |

() TR-uferecre fadmfaa <l & i 2 "ehdt ¢, e wmmem féan o1 wert fore fomn faran <
Hohel T |

(d) GTSETET Saeen # foumfaal 1 S e T8 g
9 feu U S 9 WE ST HT TIT HL |
(1) (d) 3 (a) (2) (b) AR (d) 3 @, b)) AR (@) (@) (@) (b), () AR(d)

5. 9 < %o fou U € uw 1 tfiaeRem (A) TR T &I ek (R) FET AT
AT (A) : W7 offeh & forw grepfae stferer yehfa & afvomm €1
T (R) : T5F 1 37 AR ohi GRET 3R T HI Tt €1
(1) (A) R (R) AT T T 3R (R), (A) T T AT HIT 2 |
2)  (A) 3R (R) I wE E AfFT (R), (A) FT TE A T 7
(3) (A) e &, Wfehd (R) TTe@ B
4) (A) 79 T, dfeRd (R) §_T &

6. TrAffEa & @ oo oREg & U9 fagia & o § 9t & &2
(a) T HT G TR |
(b) T AEfdq SAfo & €9 1 |
(c) Had T % HSH & ®9 U € Al & i &1 i T
(d) = F AeT IR TF F A F o= FiE foRg T2 7
e W FH I A
(1)  (a) ¥R (b) (2) (d) ¥R (o) (3) I (o) (4) I (d)

7.  Hfwarec &I 9g9 Y TSHifdeh foaare b1 7M1 Sl ¢ 2
(1) erifa § Afaeme iR g #1 ST WA & HR |
(2) UL - T9 o UGd & &9 H |
(3) TSI ST e ol iartee fohar |
(4) F9 H T F AYH dH F FwRO0|

o-azs [ LRI
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8.  Which one of the following statements of Hobbes was wrong ?
(1) State of Nature was pre-political and pre-social.
(2) Sovereign was a party to the contract.
(3) Human nature was dominated by acquisitive instinct, possessive instinct and love of
glory.
(4) Man in the state of Nature was ‘solitary, nasty, brutish and short’.
9.  John Locke’s contribution chiefly lies in his :
(a) Consent theory.
(b) Limited Government.
(c) Theory of state as a corporate body.
(d) Organic conception of state.
Select the correct answer from the codes given below :
(1) (@) and (d) 2 @and(© () (Mand© @) (a)and (b)
10. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Concepts) (Thinker’s)
(a) Veil of Ignorance (i) Karl Popper
(b) Alienation (i) Robert Nozic
(c) Piecemeal Social engineering (iii) John Rawls
(d) Night Watchman State (iv) Karl Marx
Codes :
(@ (b) (o) (d)
O O ) @ G
@ (@) (O @) )
@) ) (v 0 G
@) Gv) @) @ 6
11. “Man must eat before he thinks. To eat he must produce. Production is a basic activity”.
Who said this ?
(1) Mao (2) Rosa Luxumburg
(3)  Luis Althusser (4) Karl Marx
ooz [ HNARA AN ; —
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11.

o-azs [ LRI

gisq o1 fr=fafad § @ 9 91 H Terd o ?

(1) TThide STaee TSHITa-Ja TR THS-d i STawer off |

(2) HEYE Hf9RT F TEH GEER o1

(3) WMa @G H TSeiel Ygfd, Weaaiys Jgid oik @fa & fau =R 7= €9 § i s 9
(4) UTHfden ST W A TehTehl, ¥, et 3R steury o |

St @l 1 ANRH JeAd: e ®9 7 § 2

(a) HeHid fagid

(b) HifHd TR

(c) T fem & &9 § T3 =1 fogia |

(d) TF I SG TTIROM|

e feT T Fe | WE SR B T F

(1) (a) SR (d) 2 (a) ¥R (o) (3) (b) 3R (o) (4) (a) 3R (b)

T - 11 get - 119 gafaa & iR A= 5 70 et 9 98 S &1 =997 &

T - 1 g - 10
(3rreTUm) (feremen)
(a) A A FHNG (i) e TR
(b) AT (i) T AR
(c) Trata dRme gSr (iii) S T=A
(d) e I we (iv) T TR
%<
@@ (b) (o) (d)
1 @ Gv) @) ()
@ G @ @) ()
(3) () (v) @) (i)
(4) (v) () @) (@)

fFeR @ ® 'O F Wen F 9d @ et @ % fau S8 Seed T g SAed T 0
Frdhema g1

(1) = 2) ISTAFHE  (3) e TOYR (4) T AT
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12.  Which of the following thinkers held the view that “ the probable mischiefs of obedience are
less than the probable mischiefs of resistence”.
(1) J.S. Mill (2) James Mill (3) Bentham (4) Black stone
13. Dialectical materialism of Karl Marx postulates that :
(a) Matter is in a state of motion.
(b) Motion in the matter is due to the pressure of environment.
(c) Law of transformation is both quantitative and qualitative.
(d) Conflict in matter is continuous and endless.
Identify the correct answer :
(1) (@), () and (d) 2 @and@© () Gand(d) @4 (O and(d)
14. Which of the following statement is correct regarding J.S. Mill ?
(a) State is justified in confirming itself to limited functions
(b) Welfare policies are more important.
(c) State intervention into ‘self-regarding’ action.
(d) State intervention into ‘other regarding action” is justified.
Choose the correct answer :
(1) (b) and (c) (2)  (a) and (b) (3) () only (4)  (d) only
15. Which of the following is true regarding Gandhian concept of ‘Sarvodaya’ ?
(a) Welfare of the majority of people (b) Government by the majority party
(c) Protection of the minorities (d) Welfare of all sections of the society
Choose the correct answer from the below :
(1) (a) and (c) (2)  (a) and (b) (3)  (d) only (4)  (b) only
ooz | NRCANAN : Papeca




12. frAafafea o 9 fog foare &1 Few o fF, * Tmarer 1 grenfad IRRA, fokiy o geafad IReal
AHEI"?

(1) <™ fua 2) <= faa (3) dum (4) =H TH

13. T O 1 ggicAS ifdedre gfquifed i § f
(a) T Ifq t erewen # €
(b) Tl H wafeRer & TEE % HROT A Bl 2
() TR 1 fram ko 3R Tomere <1 g 2 )
d)  Tere # fory et ofR o €

& ST HT 891

1) (), (b) ¥R () (2) (a) 3 () (3) (b) &R (d) (4) (o) ¥R (d)

14. S.uH. e % Hay ¥ freafafed § € & @ o 9@ g ?
(a) T 1 WG FETH ST R Fee HIA 3d ¢ |
(b) oo Heet Hfaat s Heerul €|
(c) TE-Gefyd Al § TT T&a |
(d) T | el wEf § T59 TEeT St 2

et ST HT I R ;

(1) (b) &R (0) (2) (a) 3 (b) (3) he (a) (4) Ee (d)

15. T i Taied FAIURON &% Heiy H ffafad § 9 1 |98t ¢ ?

(a) SR | ST AT T FHeaTl (b) SEHA T i HIHR
(c) STCUEEIHI i Gl (d) FES & Gl Gl H FHed
o fou T ST @ W@ W H =TI Y
(1) (a) 3R (o) (2) (a) 3R (b) (3) kI (d) (4) I (b)
ooz [[{[{1HIAINANIN ;




16. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(a) Charter Act of 1813 (i)  Separate electorate
(b) Charter Act of 1833 (ii) Abolition of the trade monopoly
of East India Company
(c) The Government of India Act, 1858 (iii) Complete abolition of monopoly in trade
by East India Company
(d) Government of India Act, 1909 (iv) Secretary of State for India
Codes :
@@ () (o (d)
0 @ @ @) @)
@ () @) @) 0
@) O (v @) G
@ (v @) @) 0
17. Who presided over the All Party Conference (1928) ?
(1) Pt. Motilal Nehru (2) Dr. M.A. Ansari
(3) Madan Mohan Malviya (4) CR. Das
18. Which of the following statements are correct ?
Select your answer from codes given below :
(@) The Union of India has power to issue directions to a state to ensure compliance with
the laws.
(b) Incase of failure, the President may assume to himself all the funtions of the Government
of that state.
(c) TheGovernor of a state is appointed by the President and holds office during his pleasure.
(d) The Governor is not responsible to state.
Codes :
(1) (@), (© and(d) 2) (), (© and(d)
(3) (@), (b) and(c) (4) (@ (0, (© and (d)
19. Which of the following is not recognised as a “tension” area in Indian federation ?
(a) Inter-State Council (b)  Article 356
(¢) Role of the Governor (d) Union-State Financial Relations
Choose the correct answer :
(1) @and(d)  (2) (d)only (3) (a)only (4) (@) and (d)
ooz | VRCANAN 10 Papeca




16. Fet - 11 Gt - 119 gafaa ¢ ok freifea fou o 3 4 9 vt s -
T - 1 T - 11
(a) 1813 T ¥R TR () gu= = dea
(b) 1833 1 T TH (i) 3= sfed HTHT % AR THITHHR Hi A
(c) 3T TEMHE ATh Sfeal Uae, 1858 (i) S% Sfedl Ul o SATIR WhITHeHhR hi Ul T
(d) TEAHE 3T 3fear TR, 1909 (iv) Hehedl 3TF ®e ®WR gfean
= @@ () (o) (d)
1) G) () () (@Qv)
2) @) @) (@Gv) @)
G) @) (v) () (i)
(4) (v) () (i) ()
17. 3d 9T iAHE (1928) i sTeAsT fohd i ?
(1) dfed Adiama T8& (2) TLTAT FER
(3) W Higd Hieretd (4) IR W
18. fr=fafed & @ #9-9 Fom wdt €2
T feu T % ® ¥ T S g
(a) A T ST YA 3 3G IRd 9 61 fordt w59 1 fdw S v a6t ol 7
(b) Tormerar =t feufq H, Tegdfa 30 T THR & AR HET HI 310 €9 H o TR §
(c) Tl T & Toaae i g6 Tgafa §R1 6t STt § a9 S9! qeEty Iegufd o gHe gd
EiGIR
(d) m—w; T4 & gfd TSR 711 2
(1) | (@), () 3R (d) 2 (b), () R (d)
(3) (@) (b) 3R () @ @), () (3R (@
19. frefafed § @ f6d aRda 99 o o9 9t &9 % §9 § 989 T i T E 2
(a) T T URUY (b) 3T 356
(c) TIuE &t yfiest d) FHE-T7 foda dey
HE W ?\{ﬁ'a :
(1) (@)W (@ (2) e (d) (3) F (a) 4) (0 3R (d)
o-os [ {{1HHAHANAI 1




20. 74th Constitutional Amendment Act of 1992 does not apply to the scheduled areas in the
states of :
(a) Rajasthan (b) Haryana () Uttar Pradesh (d) Odisha
Select the correct answer from the codes given below :
1) Gand@© @) ©@and(@d () @), ©and(d) @) (@),0) (© and(d)
21. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Movements) (Personalities)
(a) Chipko movement (i) Medha Patker
(b) Narmada Bachao Andolan (i) K. Chandrasekhar Rao
(c) Right to Information movement (iii) Sunder Lal Bahuguna
(d) Telangana movement (iv) Aruna Roy
Codes :
@@ (b) (o (d)
O ) O @ @
@ ) O ) G
@) () @) O )
@ O @ ) @
22. Arrange the following Vice-Presidents of India in chronological order and select the correct
answer from the codes given below :
(a) K.R. Narayanan (b) Gopal Swarup Pathak
() Krishan Kant (d) Justice Mohammad Hidayatullah
Codes :
1) (@ O), @) ©
2 () (), © @
3) (), (®) (©) (@
4)  (b), (d), (@) (¢)
23.  Which of the following pairs showing the state and dominant caste is not correct ?
(1) Punjab - Jat Sikh (2) Rajasthan - Rajput
Kerala - Velma (4) Karnataka - Lingayat
T » Fapeca




20. 74 9 Gfqu™ "R 1992, fRA T % STqgfed &7 § @6 T et 2

21.

22.

23.
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(a) STET (b) &famom (c) Hifey
= WW?@F@'WW :

(1) (b) &R (c) 2 (c) ¥R (d) (3)

IR I (d)
(@), () #R(d) @) (), (b), (o) AR (d)

gt - 11 geit - 11§ gafad s qon = fou 70§ § 9 9 s 9 ¢

et - 1 et - 11
(3T ) (Efer)
(a) U=l sT<e (i)  HET GREET
(b) T IS SR (i) . TEIER TG
(c) F= &1 AfFR S (ili) X AT TGN
(d) AT ST (iv) 3Te I
e
@@ () (o (d)
1) Gv) (@) @) (i)
(2) (@) (@) (v) (i)
G) @) @) @ (i)
@) @@ @) (v) (i)

IRA & Frefafad Smreafaal &1 ST T2 wemsy | srafted Hifs aen = fou T Fe ¥ 3 ad@
Wﬁﬁa:

(a) .IR. TRFTH (b)
() F (d)
e

(1

2
3
(4

YT TEY I3
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24. Who among following classifies regional movements in India in terms of “ethnic” and
“nativist” movements ?
(1) Sajal Basu (2) Myron Weiner (3) James Manor (4) Rob Jenkivs
25.  When was Inter-State Council under Article 263 of the constitution of India set up in India ?
(1) 1961 (2) 1972 (3) 1990 (4) 1998
26. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Student Organization) (Party Affiliation)
(a)  Akhil Bharatiya Vidyarthi Parishad (i) CPI
(b) All Indian students federation (i) CPIM
() National Students Union of India (iii) BJP
(d) Students Federation of India (iv) Congress (I)
Codes :
@@ (b) (o (d)
O O G ) @
@ (v G @
@) G O @) G
@) @) @) O )
27. Since when consensus has emerged in India that the post of Deputy Speaker should go to
opposition party ?
(1) 1984 (2) 1989 (3) 1996 (4) 2001
28. Match the following and select the correct pairs :
List - I List - II
(Authors) (Books)
(a) Selig G. Harrison (i) Green Revolution in India
(b) Rudolf and Rudolf (i) Indian Paradox
(c) Frankline Frankel (iii) In pursuit of Laxmi : The political Economy
of the Indian State
(d) Myron Weiner (iv) India : The Most Dangerous Decades
Codes :
@@ (b) (9 (d)
O @ 0 @ W
@ O @ @) ()
@) (v @ O G
@) @) @) @ 0
s [ [HLHIATNANI 1 Faper




24, freAfafed § @ #F aRa § & STide™ &1 Jorda’ gen  Hepfa’ oTide & uel | aviied sl
g7
(1) w9 a9 (2) TR IR (3) W AR (4) Va SHfRed
25. WRd H WRAH |9 & $TIoss 263 o ST<rd ST<R-1od TRuG 1 Ted el fham a1 ?
(1) 1961 2) 1972 (3) 1990 (4) 1998
26. el - 151 Goit - 11 % a1 gaferd ¢ ofR Freiferd fau o i & wét s 9
Tt - 1 T - 11
(BTH TE) (Harg, et
(a) otfEe vRd formeff aRwg () LS.
(b) A sfead Loq HhewH (i) wUSE.Tm.
(c) T¥Fd ™ JHaT ATk sfean (i) WS
(d) wEH FHewH A e (iv) HEE(3TE)
A (@ (b) () (d)
1) @) @) (@v) (i)
(2)  (v) () () ()
(B) @) (@) o (v) (i)
4) @) (v) (@ ()
27. % 9 IR ¥ 39 910 R T Gl 94 o ureaet &1 98 yfauet <o 1 fen s =nfed 2
(1) 1984 (2) 1989 (3) 1996 (4) 2001
28. e - 1% Gl - 11 9 Gafad wifsd qen 99 ST 70 Fe ¥ 9§ 9@ S i
Tt - 1 Tl - 11
(eTEre) (TET)
(a) Gfem S ¥ () I fegem 3 e
(b) TEITH qA FSITH (i) sfeam reia
() erfed Shera (iii) 37 T 3T A&H : T ifcifesal MM 31 § Shead
=2
(d) HERA IR (iv) sfean : T A e~y fewhed
e :
@@ () (o (d)
1 G @ 3 ()
2 @ (@) @v) (i)
G)  (v) () (@ (i)
(4) (D) (v) @G) ()
ooz [N 1




29. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(a) S.P. Gupta Vs Union of India (i) Taj Pollution
(b) M.C. Mehta Vs Union of India (ii) Basic Structure
(c) Keshavanand Bharti Vs The State of Kerala (iii) Judges Transfer
(d) Common cause Vs Union of India (iv) Petrol Pump Allotment
Codes

(@ (b) (o) (d)
1) @) @ @@ @)
) Gv) @) @ (i)
() @) () @) ()
@ @ (@) (@v) (i)

30. Which one of the following Acts has been made under Article 34 of the Indian
Constitution ?

(1) The Army Act

) The Armed Forces Special Power Act (AFSPA)
(3) The Border Security Force Act

) The Navy Act

31. Which of the following statements is not correct ?
(1) The U.S. House of Representatives is weaker than the British House of Commons.
) The House of Representatives is weaker than Senate.
(3) U.S. Executive is not accountable to U.S. Legislature.
)

The House of Representatives has overshadowed the American senate.

32.  Which one of the following statements is not correct ?
(1) Swiss federal legislature is bicameral.
(2) The Lower House is called the National Council.
(3)  The Upper House is called Council of states.
(4)

The qualification of voters and candidate is decided by National Council.

ooz [ VAN
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29. eIt - 1 Gt - 11§ gafed sifs R T U U et 9eed 9 98 S g -

T - 1 T - 11
(a) TH.HL TE S YT S FfeA () W g
(b) T Hed A9 IfEA S e (i) @ e
(c) hYEMS WAl oM HId T4 (iii)  ATATET T ST
(d) RIEA FIS FAM IAEA ST sfear  (iv) Ui 99 61 e
%< :
(@ () (9 (d
1 @) @ G ()
(2 Gv) (@) @ (i)
G) G (v) (@) ()
“4) @ (@) (v) (i)
30. frefafed § & ®F TF ifufm yRd Sfa9m ST 9w 34 & ST=rd s T E 2
(1) < o T
2) < oTHE HEE WY IR TR (LTER.TE.9T)
(3) <t 9 fafEt wRE TR
4) T TE
31. frfafed § 9 #9-91 %o 92 & 72
(1)  eTafER &t yfafafy g foea & o9 IfF HIH| &1 qa T § FHSR ¢
(2) ufaffy g e &t gaT § SR 7
(3)  STHRERT T FHRIUIceRT TR faam Hea (A=) ® gfd SRR & |
(4) wfafafy g 1 MR e ¥ aifus Hed 7
32. frfafed § @ #F-91 wuF w8 & 72
(1) facRele #1 heta afvwrr fgaeaas )
(2) TEH 79 9 A1 AvHS FEfAE Fel S ¥
(3) TTH 3= TS I HISFAA A WF FHel W 7 |
AAcTArsTl qe SFHIGaR i ARgal &1 Fig FeHa wefaa & €|
T Y
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33.  Which one of the following is not a feature of United Kingdom judiciary ?
(1) Based on common law tradition.
(2) Devolution to Scotland have given more scope to a traditionally restrained Judiciary.
(3) Devolution to Wales have given more scope to a traditionally restrained Judiciary.
(4) Judges of Higher Courts are appointed by the Crown on the recommendations of the
House of Commons.
34. The Magna Carta, the Glorious Revolution and the writings of John Locke all contributed to
the strengthening of Great Britain :
(1) Absolute Monarchy (2) Ethnic Rivalaries
(3) Parliamentary Democracy (4) Imperialist Policies
35. Which one of following is correct ?
(1) K.C. Wheare : The English Constitution
(2) Robert Michel Iron Law of Oligarchy
(3) G.Savtori : Moderate and Extreme Multi Party System
(4) Bagehot : Party Politics
36. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(a) Pareto (i)  Circulation of elites
(b) Mosca (i) History is a graveyard of aristocracies
(c) Michels (iii) Theory of the masses
(d) Gasset (iv) Iron Law of Oligarchy
Codes
@@ (b) (o) (d)
O O @ @) @
@ (@ O @) (@
@) O @) ) ()
(4) (i) (iv) (i)
oo NI s papeca




33. fr=fafed § @ &1 gARee faren it =maafas &t fadma 7& € ?
(1) o8 T HT TR TR eI €1
(2) THICHE & AR ¥ IRERE ®9 G R = w5t gore se T 2
(3) I8 % AN ¥ URWRE &9 § FEa-=mfeent w1 G 9 w ¥
(4) AR A & AT i R =T ATh HIA-H H AR % SR R F9E §- &1
A
34. B e, TRerqul wifa qen ST oAt w1 WA enfe Te 3 92 faea % & Hred S
RINCER RIS
(1) s e (2) T gfaged
(3) HERH Wrhdd (4) SIS it
35. ffafed & 4 9 a@ 22
1) w. X $cie &1 digumd
(2) TR faea 3Tqds 1 HOR FHMA
(@) SgEad IIR 91 3 g SATd YOIt
(4) SRl RIS R
36. ET - 1% Gt - 119 gHfad ifse qon < U ™ e § 98 S| 0 ¢
et - 1 et - 11
(@) W& () Sl 1 e
(b) TR (i) sfoem sl 1 Hfow 2
(c) Teiew (ili) T a1 @1 fagia
d) TEe (iv) STTIds T FHSR HMA
e
(@ (b) (o) (d)
1 @ G @) )
2 G @ (@v) (i)
(3) (i) (i) ( v) (iii)
4) (iii) (iv)
D213 HHHI“IH | IH\HI 1 Paperi




37. Political institutionalisation involves :
(a) Political mobilisation (b) Political integration
(c) Political representation (d) Political Fragmentation
Select the correct answer from the codes given below :
1) (@, (®) (© 2) @, (), @ G (@) (d) @4 (© @
38. Which countries were the basis of the study of Almond and Verba’s ‘Civic Culture’?
(1) Chile, US, UK, France, Spain
(2) US, France, Mexico, Italy, Germany
(3) Mexico, Germany, Italy, US, UK
(4) US, UK, Chile, Mexico, Spain
39. The five stages of economic growth proposed by W.W. Rostow are :
(1) Traditional society, mercantile capitalism, industrial capitalism, financial capitalism,
globalisation.
(2) Preconditions for take-off, take-off, maturing of industry, industrial capitalism, full
employment.
(3) Traditional society, preconditions for take-off, take-off, drive to maturity, the epoch of
high mass consumption.
(4) Preconditions for take-off, mechanisation, industrialisation, take-off, financial
capitalism.
40. Which world leader gave a special concept of ‘Development” after the Second World War ?
(1) Franklin Delano Roosevelt (2) Harry Truman
(3) Jawaharlal Nehru (4) Winston Churchill
S 1T TR




37. qHifaes Heem | wfed ©
(a) TSI THe=<t (b) TSIHITTH FHERA
(c) USHifaw gfaffas (d) USHITdw TEe
1= few T ET T 9§ TWet S ﬂ'ﬁ'a :
1) (@), (b), () 2) @, (b)) (d) @) (), (d) 4) (9, (d)
38. 3IcHIC T XS hi ‘AN W&Rfd' o AFdT § fohd-Toh <9I ol STHR =M 727 o1 ?
(1) focht, 3 T4, 9%, B9, T (2) ¥ TH, i, Ao, geell, STt
(3) Hfowel, SHA, Seofl, A TH, 9% (4) G TH, g o, Focdl, Afeden], €4
39. T T, AR R WEAIed el faahmd & oid =/ €
(1) R g9, i Ysftare, sienfie Ysitar, faxdia Isiare, queais |
(2)  SPY TR 1 Y4 I, Sk ST, SUNT h1 g, ik geiiare, qoi ISR |
(3) UREReR TS, IR STaE bl T Id, Scchd STE], TRl st 3R ofd, 3= 9Hfesh @ad
=T 77 |
(4) STRY TR HT YH I, ATHI, SURTRLO, Shy Taee, foxia dSfarg |
40. forw 3fves a1 7 5w 7er”gs & Tvam fowma’ &1 fo¥iv sTaemon y&qa &t ?
(1) Henfe feodl Evdee (2) %ﬁ%’ﬁ?
(3) AR A TE® (4) fowd afda
ST 11—



41. What are the three types of political culture according to Almond and Verba’s study “Civic
Culture’?
(1) Parochial, subject, participant (2) Citizen, communal, democratic
(3) Associative, adjudicative, parochial (4) Feudal, semi-feudal, democratic
42. Choose the correct answer from the codes given below :
Arrange the steps in the working of the general system of Proportional Representation in the
correct sequence :
(a) the candidates are arranged in order of the votes they receive.
(b) each party puts up a list of candidates equal to the number of seats being fought.
(c) the leftover votes, or remainder votes are divided up between the candidates.
(d) Lists can be closed or open, open lists allow votes to indicate individual candidate
preferences and vote for individual candidates.
1) (), b) ©), (@ 2 © 0) @ @
(3) (), @ @) © @) @ ®) @ @
43. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reasoning (R).
Choose the correct answer using the codes given below :
Assertion (A) : Only when power is combined with authority does it have legitimacy.
Reasoning (R) : Power is the use of force over others.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(A) is false, but (R) is true
T 2 Faper-




41.

42.

43.

STTHIE T R & AT ANRE HERfd' F TR TF YR & oIt fagia a1 g ?

(1) HifHE, go7, wrieR (2) AT, AR, ArRdiiAh
(3) efvsTa, stfufotarere, wifha (4) T, TG WHdT, TArRdiAH
ﬁmm%ﬁﬁvﬁwqﬁa:

STuIfae Ffariee i A Joel! o &1 | iad =Xl Sl W& A H Fafed Hifvd :

(a) SHICARI I 3% UTH Al o A H Fafeed foman S g |
(b) WAH T ST & T Gt T Hl ¢ ST el W A gl S @l

(c) 3TERIY Tl a1t Hal bl IFHIQER | aie fean S 7|

(d) gfeal STga s1eE Hed & Tehdl €, STgd gl § SAfwnTa SEHieaR! i ST i wal
T e qen AT STHIGAR! S TAeH i SAAfd <t ST § |

D (@) ®) () (d) 2) (9, (b), (d), (a)
3)  ®), (@) @) © @) (), () (©) (@

= T He fau U ¥, U H PR (A) 3R IR I ek (R) Hel T E |
ﬁmmﬁﬁﬁﬂﬁﬁ?ﬁ:
ATHRAT (A) : T 6 1 T ¥ G 2, q0) 3Th! Serar 7|

qeh (R) : 6 T % S 9 1 FA 7

1)  (A) 3R (R) I T § 3R (R), (A) FT &t TIHH T |

2) (A) 3R (R) A T ¥, TG (R), (A) F1 H& TIEH0 T B |

(B) (A) TA T, T (R) 3T9A ¥
)

(4) (A) A T, T (R) 9 T |

o-azs [ IR 2



44. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II

(Author) (Title of book)
(a) Gane Beinton (i)  Europe in Revolutions
(b) Ted Gurr (i) Anatomy of a Revolution
(c) Charles Tilly (iii) States and Revolutions
(d) Theda Skocpol (iv) Why Men Rebel
Codes :

@@ (b) (9 (d)
M @O G G G)
(2 @) @) @ (i)
G) (@) @) @ ()
(4) @) @) @) @)

45. Tick the correct option from the codes given below :

The theories of modernisation were criticised by :

(a) dependency theories (b) liberal theories

() underdevelopment theories (d) world-systems theories
Codes :

1) (@) (b), (0)(d) ) @ (®) ()

®) @, © ) 4)  (b), (d)

46. Who among the following do not make a distinction between public and private

administration ?

(a) Henri Fayol (b) M.P. Follet (c) Luther Gulick
Select the correct answer from the codes given below :

(1) (a) and (c) (2)  (b), (¢) and (d)

(3)  (a) (b) and (c) (4) (@), (b), (c) and (d)

47. Who among the following laid down ‘Seven principles of organisation” ?

(1) Gulick and Urwick (2) Mary P.Follet
(3) Henri Fayol (4) F.W.Taylor

48. Which one of the following is not a principle of organisation ?

(1) Hierarchy (2) Span of Control
(3)  Unity of command (4) Staffing
s [N 2
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44, eI - 1 Gt - 11§ gafeaa w1 ok A= feu U $e § 9 9@ s® g

T - 1 T - 11
(TTTeR) (T&eh T TTH)
(a) THa=A () 9 3 REegera
(b) W (i) SR fh T Raeayd
(c) =eH feedt (i) F<H e RaegEra
(d) T TRFRIA  (iv) =& A @A
<
(@ () () (d)
@O @ @) 3G ()
(2) @) @v) @ (i)
@) (@v) @) @ (i)
(4) (i) @) (@v) ()
45. = fqu T Fe # 9 W& foweq I
MY fTehTat o Tagia &1 STare BRI &1 T off |
(a) Tasar =1 fagia (b) SeNEE! fagid
(c) sifasmare =1 fagia (d) fava-=gereen fagia
e

1 @ ), @ @ @ @ b)(© ®) @ (© @ 4 () @)

46. Tr=fafaa § @ =9 e gore qen =i gores 9 9 T e ?

(a) T HAA (b) TH.ME (c) TR Tfeaeh d) Taaw
= fou T e § W@ SW g -

(1) (a) 3R (o) (2) (b, () 3R (d)

(3) (), (b) 3 (c) 4) (), O), () 3 (d)

47. Trefafed § 4 fee ‘918 % 9w fasia’ fyifa w32
(1) Tfa® don Rfaw (2) B Mweee (3) T wAE (4) TUH. Ty, e

48. frefafaa & @ *iF Geq o1 fagia & 22
(1) Y<HUE A BREREMEIRIERCISIN
(3) QW I THAl (4) HHER =

o-azs [ IR s



Change

France

Martin

Albrow

Denmark

49. The literature on new public administration lays emphasis on :

(a) Relevance (b) Values (c) Equity (d)

Select the correct answer from the codes given below :

(1) (@) and (b) (2) (), (©) and (d)

(3) (), (b) and (d) (4) (), (b), (0) and (d)
50. In an informal organisation, authority always flows :

(1) upwards (2) downwards

(3) upwards and across (4) across and downwards
51. ‘Garbage Can Model” was developed by :

(a) Michael D. Cohen (b) James G. March

(c) Peter Drucker (d) Johan P. Olsen

Select the correct answer from the codes given below :

(1) (a) and (d) (2) (), (b) and (d)

(3) (@ (b and (o (4) (), ©) and (d)
52. The traditional home of patronage bureaucracy is :

(1) UK. (2) US.A. (3) China 4)
53. Who among the following coined the term ‘representative bureaucracy’ ?

(1) Donald Kingsley (2) Peter Blau (3) Max Weber “4)
54. Which one of the following was the first country to enact a Law - Freedom of the Press

Act - as early as in 1766 ?

(1) U.K. (2) U.S.A. (3) Sweden 4)
s [N 2
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49. oA Ik YTHT Helelt Hifgcd oA <1 g

(a) Helga (b) TA (c) fmamar (d) fedT

= T T e 9 9& W g -

(1) (a) 3 (b) 2 (b), (0 ¥R (d)

3) (a) (b), 3 (d) @) (@), (b), (o) 3R (d)
50. STHMIETE WS H, T gHIm 1 3R yaTfed Bt |

(1) eEmEt faum (2) et fom

(3) ATt qun fast fawmed (4) TaeSt qen gt fome
51. J 'y A4 Aied’ &1 fawg foear an

(a) TTEhA S Figd (b) ST ST A=

(c) URT T (d) SieH 9. oTed

e QT T %2 @ W 3 A

(1) (a) ¥R (d) 2 (a), (b) ¥R (d)

3) (@) (b) () 4)  (b), (o) IR (d)

52. TI&TH IRl 1 TR <9 R

(1) I (2) 4TET (3) = (4) Wi

53. fr=Afafed # @ feam  gfafafus A’ sse & 1@ 82

(1) e frad (2) e (3) HF IR (4) WIS ST

54. frefafea § | fem 3o 3 9gd 98 1766 | & - FHAMER T 1 W SAfafem - FHA & 969
Teo erfufrafya fean on 2

1 2) Y UHT (B3) e (4) STHETER

) A (
o-oass || HIEAAININ -



55. Which of the following statements about Gender Budgeting are correct ?
(a) Itis a separate budget.
(b) It is passed along with the general budget.
(c) It seeks to translate gender commitments into budget commitments.
(d) It addresses the needs of women in the areas of education, health, employment, etc.
Select the correct answer from the codes given below :
(1) (@) and () (2)  (b) and (d) (3) (a)and (d) (4)  (c) and (d)
56. Which of the following are the compulsory provisions of the 73'4 Constitutional Amendment
Act (1992) ?
(a) Indirect election to the post of Chairperson of Panchayats at the intermediate level.
(b) Reservation of one-third seats for women.
(c) Reservation of seats for backward classes.
(d) Constitution of a state Finance Commission.
Select the correct answer from the codes given below :
(1) (a) and () (2)  (a) (b) and (c)
(3) (a), (b) and (d) 4) (@), (b), () and (d)
57. Which of the following statements is not correct ?
(1) India is a signatory to the UN Convention against corruption.
(2) India ranked 95th out of 178 countries according to the Transparency International’s
Index.
(3) Lokpal and Lokayukta Bill was first introduced in Parliament in 1986.
(4) Central Vigilance Commission was set up on the recommendation of Santhanam
Committee.
s [N 2 papeca




55.

56.

57.

foam ase % an ¥ frfafed 4 4 &1 - § S 9@ 82
(a) 9T TH JUF I T |
)

b) IR T TSI F WY U Bl B

c) THH 3V foAT TUEEAl HI dele FETeSal B R AT e §
(d) =TH fren, e, IR o71fE & & § afecnsii wt sevawasii | = fan s §)
ﬁmm@ﬁﬁ'ﬂﬁﬁ'{ﬂﬁa:

1) () AR (c) (2) (b) AR (d) 3) (a) 3R (d) 4) () ¥R (d)

frefafaa § @ =1 9 73 9 dfaym deem sifafem (1992) % stfverd gagm €2

(a) TSl TR W YAAl o ST % IS 1 AT A

(b) fgensti % fa TH-TagrE Ml &1 SR

() Tuze = & foa €iel =1 st

(d) T faa s =1 MeA

= ST T e 9 W& W g -

(1) (@) 3R () 2 @ OFRE@ @) @ O @ @ )R

frefafaa § @ aF-o1 wom w2 @ €2
IR 3 YR % fGel® g T2 99 & T | ganer €

RS SR Feehich & STTHR 178 I H YRA 1 TIM 95 A |

)
)
) IRaTE T ARG fasFe i 99 H Ugdl 9R 1986 H Y& fohal T o7 |
)

FHETT Gehdl AT hi LTI FAFH TG 1 FAwIiEr 9 st T8 off |

o-azs [ IR 2



58. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).
Select the correct answer from the codes given below.
Assertion (A) : The ambit of RTI Act needs to be widened.
Reason (R) : At present, there is trend toward privatisation and outsourcing of many
erstwhile government activities.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A)is false, but (R) is true
59. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).
Select the correct answer from the codes given below.
Assertion (A) : Authority and responsibility are the two sides of the same coin.
Reason (R) : Authority is divisible, responsibility is not.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A)is false, but (R) is true
60. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).
Select the correct answer from the codes given below :
Assertion (A) : The concept of development administration is of recent origin.
Reason (R) : Many countries became independent after World War IL
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A)is false, but (R) is true
o-azss [ LHLHLANI 50 Papeci




58. I 2 weA fou MU, uw a1 rfUReT (A) 3R T FI ek (R) FHel TR |
T T T Fe H ¥ W& SW g
AUFRYT (A) : I &1 AR TfufEm (AR, ) & &7 F1 far fhd S & stawaehar
T

qeh (R) : aa | FSieRor a1 3T Jaehicl | LRI hrishAl 1 ™qH gl &1 fha

S 1 99§

<

1) (A) 3R (R) I ¥ T, 3R (R), (A) FT T&l TIHHT T |
2) (A) 3R (R) TA FA T, WG (R), (A) T T TIEHIT T2 ¢ |
(B) (A) ¥ T, T (R) 39 T |

(4) (A) A T, T (R) 94 T |

59. = 91 %y fou MU €, U #1 AfaeRed (A) 3R T FI 9ok (R) FE T

= feu T e # § 9l S| T

SR (A) : T IR Sameee! T & faeh & < 98 B |

Tqeh (R) : 1 faam ], wg samed s 72 21

e
1
2
3
4

(A) 31 (R) 341 T &, 31 (R),(A) 7 Te S8 21
(A) 3R (R) 391 T ¥, T (R),(A) F1 T SOsieneor T 3
(A) T ¥, TR (R) 3T9A |

(
(
(
4) (A) 39 T, W (R) ¥ T |

)
)
)
)

60. = 2 wHeA fou MU ¥, Uw w1 tfuReT (A) 3R T FI dek (R) FHel TR |
AR (A) : TTFTH TOMEA T TR T 3T BT & H g7 7 |
qeh (R) : fodta fova 95 % wveq emeh <1 31WTE & T |
<
1) (A) 3R (R) TH T §, 3R (R), (A) FT TET TIEHT 7 |
2) (A) R (R) EHI T T, IR (R), (A) FT TeI THHT Tl T
(3) (A) 9 B, T (R) 39 R |
(A) TFA T, T (R) 94 &
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61. Which of the following terms of International Relationships was coined by Nicholas Onuf in
his book - World of our Making ?
(I) Realism (2) Neo-realism (3) Neo-liberalism (4) Constructivism
62. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Authors) (Books)
(a) B. Buzan (i) Man, the State and War
(b) I Hansen (ii)  Social Theory of International Politics
() K.N. Waltz (iii) The Evolution of International Security Studies
(d) A. Wendt (iv) People, States and Fear
Codes :
@@ (b) (9 (d)
1) Gv) () @O )
(2) (v) (D) @) @)
G) @O G @) )
@) (@) @O @) (i)
63. Which of the following is not correct regarding W.T.O ?
(1) It administers W.T.O. trade agreements.
(2) It acts as a forum for trade negotiations.
(3) It monitors national trade policies.
(4) It supplies technical assistance and training for developing and developed countries.
64. Which country is the example of Latent Nuclear Capacity ?
(1) India (2) Japan (3) China (4) North Korea
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61.
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64.

frehferd 1% 7 319t Tk - dce M TR Ak ¥ s Hay & on | f=fafed 9 9
- T QT ?

(1) auefame (2) Ta-FeAR (3) TA-TRAR (4) TAER

el - 11 el - 119 gafaa wifsd qen 9 ST 70 e ¥ 9 98 S i

el - 1 el - 11
(TET) (TET)
(a) WISH (i ¥, TV TS AR
(b) TR, T4 (i) FRA SR AE FeE Uit e
(c) H.TH. el (il) T FACYYH T seeAa TR wde
(d) T o= (iv) THd, ©e TS BRI
<
(@ (b) (o) (d)
1) Gv) (@) @ (i)
(2)  (v) (@) @) ()
G @ () @) ()
4) (@v) 1) @) (i)

frfafaa & @ =F fava =R 9T & g9y o € 6 © 2
(1) I fova MR FreA( sy, 2.0, ) & SR FHeidl w1 o S ¢ |

(2) I8 ANR am@ist & @3 TF 79 F1 FE w7

)
(3) I% U AR Afal ot R R §
)

(4) =% fommasia qon fomfaa S & fd Tl @ T FieT it qfd L 7 |

frefafed & @ 9 91 39 3= TRATY] &THAT T ST & ?
ST @) =@F (4) W HIREN

(1) 4 (2)
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65. Match List - I with List - IT and select the correct answer from the codes given below :

List - I
(a) Counter force strategy
(b) Counter - proliferation
(c) Counter - restrictionist
(d) Counter value strategy
Codes

(@ (b) (o) (d)
M Gv) (@) G @)
() Gv) (@) @ (D)
() @) @@ @) (@)
@4 @) @Gv) @O @)

@)

(i)

(iif)

List - 11

Types of nuclear strategy that threatens assets that
are valuable to an adversary, such as cities with
industrial assets and large populations.

International lawyers who argue that there is a legal
right of humanitarian intervention in both UN
charter law and customary international law.

Term used to describe a variety of efforts to obstruct
slow, or roll back nuclear weapons programmes and
nuclear proliferation.

Type of nuclear strategy that targets an adversary’s
military and nuclear capabilities.

66. Who is given credit to coin the term - Soft Power ?

1)

Joseph Nye (2) N. Alarcon

(3) A.J. Bellamy  (4) S. Chesterman

67. Marshall Plan, 1947 was also formally known as :

(1)
)

European Reconstruction Programme (2) European Revival Plan

European Recovery Programme

(4) European Restrengthening Plan

68. According to K.J. Holsti, which one of the following is not a feature of the contemporary
state system ?

1)
(2)

()

Dz ||\||H|||!||

The rise in the number and type of states.

The great potential for destruction by those who possess nuclear weapons and modern

delivery systems.

The predominant position of influences that has been achieved by the three essentially

non-European states :

Russia, China and the United States.

The large number of states are keen to join political and economic alliances.
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65. Gt - [ & Gt - [1 & GAfad wifsa qen 99 ST 70 Fe ¥ 9 9 S I

Tt - 1 T - 11
(a) fd o T (i) R I T 98 FRR S SR ST
(FRR ®E wfesh) T TS TG!S IR T 9 HT A M &
T @0 39 AT © S Sk o S ©
(b) 9fd TER (i) ST T S T © fof 9% T =
(R NAREM) A U TAfeTd ST A SHI | A g&a
=1 fafues sifesm 7
(c) Ufa yfasigars (ili) TRHTY] ST HRAHH TN THIY] YHR F TTEE HA,
(FRR Rfgwfe) ¥ e o9 o & fod ford ST 9l aes
YR & FATE! 1 T FHH 3 TIH I
(d) ¥fd 7eF o (iv) TR A T 9 YR fSres vy # S9 1d W
(FR I wfest) &I Rl &7 AT S B |

@@ (b) (9 (d)

1 Gv) (@) @) @G

(2) Gv) (@) @ (D)
) @) @ G ()
4 @) @Gv) @ @)

66. RO VG (THS UER) TS & Mg & o fovdt 91 fean Sran €2
(1) <IE R (2) TA. STATHRA (3) WSS (4) THEIAREA

67. R M, 1947 F1 o= w9 9 & w9 H oft IS
(1) FUdrE gAHEt FwRmA (FUdE Regawe gom)
(2) T Gecer AT (e et )

(3) FUUE T wrwH (AT ke qium)

(4) T TTgEeRTeT e (A fegaf )

68. H.SLIR! & ATER, FeAfafad § ¥ o THHTT T5T JOel i forrodr T& € ?
(1) T & 9& 9 TR ¥ gfg
(2) 31 TE % gN faead it ISt & SR 98 AT SR a9 sngfen foaRor yore |
(3) 9@ ®I enfyuey feafa 59 1 stfameda: R-gda <9 @ w9, = o) 9% T3 smfe A
T 1 7
TR 3 T S AHHIfqeh qen Mfefe dfee § wnfrat 8 & ford Scge §
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69. The Principal purpose of India’s foreign policy vis-a-vis the UN is to pursue three closely
related goals. Which of the following is not included among them ?
(1) A significant role in the shaping of international relations in the 21%tcentury.
(2) A movement towards a non-violent and humane international system.
(3) The promotion of conditions for a sustainable and relatively equitable pattern of
international development.
(4) To help UN to develop its own financial resources.
70. Which of the following is not included in the Doctrine of Panchsheel, 1954 ?
(1) Mutual respect for each other’s territorial integrity and sovereignity.
(2) Not to develop nuclear weapons.
(3)  Equality and mutual benefit.
(4) Peaceful Co-existence.
71. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(Regional Organisations) (Region)
(a) OSCE (i) Europe
(b) V4 (i) Eurasia
(c) BSEC (iii) Euro-Atlantic
(d) NAFTA (iv) North America
Codes
(@ (b) (o) (d)
M G O @
@ (v @) @ 0
@) O @) @) @)
@) @ O G G
72. The roots of newly emerging forces of globalisation have been traced in specific economic
and political developments in the late 1980s or early 1990s. Which of the following can not
be included in this category ?
(1) The end of Cold War.
(2) Testing of nuclear devices by India and Pakistan in 1998.
(3) Dismantling of state socialism in the USSR.
(4) The collapse of the Berlin wall.
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73.  Who among the following is associated with Democratic Peace Theory ?
(1) Kenneth Waltz (2) Michael Doyle

(3) Jackson and Sorenson (4) John Mearsheimer

74. In which country did Saudi Arabia militarily intervene in March, 2015 ?
(1) United Arab Emirates (2) Yemen
(3) Egypt (4) Kuwait

75. Which of the following are organs of organisation of American States ?
(a) Secretariat
(b) The Inter-American Conference
(c) The treaty of consultation of Ministers of Foreign Affairs
(d) The Council

Select the correct answer from the codes given below :

(1) (a), (b) and(c) (2)  (b), (c) and (d)
3) (a), (b) and(d) (4) (), (c) and (d)
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73. frAfafed § @ #F dekaite wifa fagia @ dag 82
(1) &Y Fet (2) WERA TEA
(3) S AR T (4) < fERRmR

74. HME 2015 G3a! 3 7 forg 29 # 9= geqag foman?
(1) TIH e TH @) T
(3) fr= (4) Fd

75. Trefafed § @ #F oA T & §Ted & A1 2
(a) EiFaTer™
(b) TSI T
(c) Tocw wfi =1 foem-fomel wfy

(d) TR
= fau T e F  wE I g
(1) (), (b) 3 (c) (2)  (b), () ¥R (d)
(3) (a), (b) ¥R (d) 4) (a) (o) ¥ (d)
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